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a1 —



{an} — [17 07 07 17 17 27 47 77 137 247 te ]
{b,} =10,1,0,1,2,3,6,11,20,37,---]
{cn} =10,0,1,1,2, 4 7,13,24,44, - -]

{kn} =11,1,1,3,5,9,17,31,57,105, - - -]

U}



1k}

{kne1} =[1,1,3,5,9,17, 31,57, 105,193, - - -]
{kn+ot =11,3,5,9,17,31,57, 105, 193,355, - - -]

2{kn+1} =[2,2,6,10,18, 34,62, 114, 210, 386, - - -]
2{kn+2} = [2,6,10,18, 34,62, 114, 210, 386, 710, - - -]



3.1.

3.

{ant (b} {ea} {kn}

kn + kp+2 = 2bp+3

(ko) =[1,1,1,3,5,9,17,57,105,193, - - -]
ket =11,3,5,9,17,31,57, 105, 193,355, - - -]
2{bp+3} =2-[1,2,3,6,11,20, 37,68, 125,230, - - -]



kn + kp+a = 2kp43
{kn} =11,1,1,3,59,17,31,57,105, - - -]
{kp+4} =1[5,9,17, 31,57, 105, 193, 355, 653, 1201, - - -]

2{kn+3} = 2[3,5,9,17, 31,57, 105, 193,355,653, - - -]



) kn+1 — kn = 2¢y
kn + kn+1 = 2¢p+2
kp+3 — kn = 2¢p+3

kn+4 — kn = dcp+2



3.2
{an} {bn} A{cn}

aAn+1 — Cn
bn+1 =an +cp

Cp+1 =bn +op
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3.3 I

M

ai] a2 ai3
M = | a1 app a3

a3l a3z aas



oy (t) = det(tE — M)

oy () = det (LE — M)
t—ai; —alp —ai3
—ap1 t—a —a3
—a31 —az2 t—asz




opr (t) = t3 — a9t + agt — ag
ap = aqp +ax + azz, ag = det(M)

M ajp +axp +azz Tr(M)
ap =Tr(M) o (1) t=20

ap = det(M)
a1 = aj1a22 * apoa33 * a3sal] — a12a21 — ap3a32 — a31013



wp (M) =0

M

001
A=1101
011

o) =t -t —t—1



(

pa(A)=A3—A°— A—E=0

) Un+1 = AuUn



= Un T Un_1 T Up_2
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Un+ Un +Up_1 t+ U
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an an—1 .
— bp | + | bp—1
Cn Cn—1

Ap—2
bn—Z
Cn—2



{an}
{bn} {Cn}

p+l = an +ap—1 +ap—_2
bn+1 = by, + bn—l + bn—2

Cn+l =CptCp—1+Cp-2

{ant {bn} A{cn}



{an}

Ap+3 = Pap+2 ¥ qap+1 ¥ ray

{an} W

{ap} e W lap+1} € W



4.2.
{an} {bn} {cn}



( )k’n + kn+2 — 2bn+3

( )n
k1+ k3 = by
1+1=2

( n
ko + k3 = 2bs
1+3=4

( )n
k3 + kg = 2bg
1+5=6



( Den+ kpva = 2kp+3

( n
k1 + kg = 2ky
1+5=606
( n
ko + kg = 2ks
1+9=10
( )n
k3 + k7 = 2kg

1+17=18






